[ ]stl @ + @ + ® 9 3 F5IA 2

1856 2 4 1856 1850 L:

100~ 7 100 “[q)

>
> HE: 472.64

B
1856 l—%t'rﬁ 464

1
1 4_——4—_ = = —
8.56 = 100 100 /11 100 =464

D=4, @ =464, ® = 4.64
D+Q+B® =4+464 +4.64 = 472.64




6512 + 16 = 407

]

65.12 + 16

4.07

-

ul




ol % mYu7A?

ol
il
!

ol
0

Ul

uzel

AT

—_

=99 4o]7} 26.16 m 2

2l

26.16 + 8 = 3.27(cm)




—
S
[a]
[e]
()
[a)
[a)
8

Lo}
I
=
2

\4
L

14000

vV V V¥
0
iy

0
i

140

100m? = 1a, 100a = 1ha




@ cm? © m?
® ha @ km?

ol Ao ol 1 ¢F 550 |

> E
> EE. @

oL A9 Yol km? 2 HY T

Age @4




6.

—

o]y whe] 1 g} 2 mES] 48t 4. of

o] ¥ Foh1 F 4 A&7

1259 2R 5]

3t 44 R

85, 83, 92| 87, 76, 93,
94, 76, 86 | 80, 92, 82

(1252 Ba)=516 + 6 = 86(F),
(22F2] B)= 510+ 6 = 85(F)
webA, 12520 Aol ¥ FH5UT

2



7.

che DY B Aa 4SS el A
AT RS FIA .

7t ©00000
L 0000
= @0

2 | @0000000

® 100070 O 1007}

= A

>
> He 255074

o

4

(4200 + 1400 + 1100 + 3500) + 4 = 2550(7H)




8. & UAlE sHA L.
9.27+9

> E.

> Fehl 1.03




37.8+14026.1+9

378+14=27,261+-9=29
378 +14 <26.1+9




® 87+6

@1.8+3

® 135+3

® 125+12

@ 34838

3olB& 183Ut}

—_— =
Aoy e
o o B o

—
BOE R )

© 0 O mn

\l/\l/\l/rA

< AR AR K
S5 5]
TETE
XY TE

FEEH
O oy

—

A
§

~—

A
A

(ol
(ol

(ol
aebA] o




11. o5 FolA |olol &9 BAE vr=A vehd A2 o=

O 25km? = 2500a @ 49a =490 ha
3@ 6800000 m? = 680 a @0.54 ha = 5400 m?

® 370a = 3.7m?

~&B

1km? = 100 ha = 10000 a = 1000000 m?
@ 25km? = 250000 a

@ 4.9a =0.49ha

@ 6800000 m? = 68000 a

® 370a = 37000 m?




i
%
>,
lo

@ 80km? © 90000 m?

@ 7000000 m? @ 0.6km?

© 7000ha

® 9000a

Ct -
| —

>
> EE. ©

B

L5 ha 9912 1A Bl
@ 80km? = 8000 ha

© 90000 m? = 900a = 9ha

© 7000 ha

@ 7000000 m? = 70000a = 700 ha
@ 0.6 km? = 60 ha

® 9000a = 90 ha

Q-6-8-8-6-C £°|Ez F HA=

24

e

rlo




13. 27 ©9] BoAE 22 ek AL o= AU

@ 3kg =3000g @ 4t = 4000000g

@5.5t = 55000000 g @ 6t = 6000kg
® 120t = 120000 kg

® 5.5t = 5500 kg = 5500000 g




14

. Tel
= 7]—1}
g 77
14 Ay
2| o
=7
k25
= A

2

Q@
5t1
8
Okg
©
529
0Ok
g

© 5t
@
4980 kg

iy

it

0
it

\%
\Y
\Y
vV V¥
% vy
\4

0
- . EE
S
® 0 o
®

0
o

~&B

9l
: £ 3¢
@51801{ e
e o

§ s At
: 4000 kg . B5 kg ©
Uq_E]—980 kg -

A © |

’@
9 @
oz B4
sun




15. SE2 1.3t 7HA A
9l 5122 9 A7t

© A olnu
= T MR
A 4 A FaA L

> g A

dzjHlol8 7t syt FA7F T0ke

1.3t = 1300kg
1300 + 70 = 18---40 ©] B2 18 7}7}A] A

o A
2= T

9}

sS4k




16. T3 ZF&= o]k ofmE S| A U A7) 9] & AR A Y
ot EE gt g7} 190 kg o] A7 E 2He 4 ¢ 4 71E
2]

gt 2 de] Eo] BaskA

2e|719] &
5 AE (U [g5[as
Zafl719] % (kg) | 120 | 270 | 250 | 230

= o

(120 4 270 + 250 + 230) + 190 = 4.5789 - - -
IHE2 57t 2 g gy},




& zAfeto] e &
FoIA ol agjmz

N
ERE

17. dEu BE A750] A Fo e A
Quch Ei sho) 2o met oA e
eholof sh=x] oA 2,
g [ Al | s | A4 5% | A
1

) 1 3 8 7

ol

T 222 veh= 2ol £

>
oft
1o
I
=
=2
rE
o
ok
_ll'J




18. ©ofH 40 132 FHHY 7436015 oW 55 TohA L.

> =g 572




19.

=]

SHol= AMAE Bl 22 Wma7|2 6 A7 Fetol] T1kmE €3
SUth SHolE AR 1 A7) F 2 kmE 2 AIA] ¥HEH
Shof A=A A 7HA] UERHAL L. (0.666 - - — °F 0.67)

km

| 2
[> e °F11.83km

1AIZE S8 AP AR G- A
S 71+6=11.833---(km)
— 9F 11.83km




20.

101.74 + 47-& &2 4 2 oA RS9 53 425 AR Zha]of A
HHE- 25 5.0] 2t dnpelz] LohA] Q.

>

> = 0.04

~&B

101.74 + A7 = 2.164 - - -
A ZAE oA FHEE 1 2.2
A7) 2t ol A ¥red 216

2.2-2.16 = 0.04




=
wo] Q. of Sie] Hol & m? U7}

o] B2 ZF27F 6m, M27F 400cm )1 AAFAE 2

400cm — 4m
6 x 4 = 24(m?)




22. g =30 oIS ol2 711 BeE ehfio] Aete 24,

_1800m . _

T--2600m-" "

0
o

3080000 m?

308 ha

vV V.V V¥
0%
(L

0
o

3.08 km?

B
(AreFe]E9] Hol)

= (1800 + 2600) x 1400 + 2 = 3080000 m?

1km? = 100 ha = 10000a = 1000000 m? ]2 &
3080000 m? = 30800a = 308 ha = 3.08 km? Y t}.




23. &7 RET A 252] 100m 22]7] 7=} 100m 227
7152 o] LEo] O E2X] FEHA L.

7 B 7=

o A [ 57

A
712 (%) (184175153

Oioll
N

,_.
e~
o

Yl BE V1=
5 (A9 | A2 |21 | ZH
71 (%)[18.8]13.6[19.2]16.4

27 59 B 715
(1844 175+ 15.3 + 14.2) + 4 = 16.35(%)
AHY H59] B+t 7=

(18.8 4 13.6 +19.2 4 16.4) + 4 = 17(Z
Y 7150 ¢ WE £2 57

=
u!
il
rl
i
S




24.

)= 43009, A40)E= 350092 7HAI L 5 YTt
E=712] ghsted Y] AFte] B2 s E Y 3900
Aol AsUth 42371 7HA AL Qe =& dutdyrt?

T o =2

(=9 &A)=(FB)x(AH ) A
3900 x 4 = 15600() o122
(&3]7F A AL Q= =)

= 15600 — (3700 + 4300 + 3500)
= 15600 — 11500 = 4100 (&)




